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Suggested Angwers
Tash 1

FPersonal Writing Academic Writing

Tells a story Comments, evaluates, analyses

Non-technical vocabulary Subject-specific vocabulary

‘T’ at the cenire ‘T’ ad observer and commentator

Information comes from the Tnformation comes from gources and refers

writers experience to what others say

Personal views and [eelings Evidence and argumenis

Free farm of writing Conventions for citatiop

Task 2

A survey designed at the University of Wates Institule of Science and Technology (UWIST) olfered two
different ways of writing up the same information. The two authors were given neutral names, "Smith” and
"Brown”. Read them through, without pausing too much, and then reflect for a moment on your own
impressions of the quality of each wriler as a scientist, before reading what other scieniists thought of them.

You witl not be surprised that 69=3% ol the scientisis who answered the questionnaire ‘preferred’ Smith's
version. Tn all, 1380 scientists gave their views. Not only did they prefer the easier passage, but also they
found it ‘more stimulating” and ‘more interesting’. Bul the main inierest of the research was 1o see f fellow
scientists would make 2 judgement about the competence of the writers, and il so what it would he. In
answer Lo the question, ‘Does one author seem la have a berler organized mind?", three-quariers said, ‘Yes,
Smith’.

These results are important for anyone who has lo wrile to communicate information. If the writing is clear
and simple, fellow scientists will not only find your writing pleasanter to read, but they will also think you
are a berrer scigntist, have a better organized mind, and are more competent. Readers seem less and less
prepared Lo accept the tradilional smokescreen. 1fihey can undersiand easily, they are more likely 10 be
impressed with the guality of the thought behind the words.

A majority of the scientists who answered ihe questionnaire perceived Smith's version as more impressive,
more credible, and more worthy of esicem than the Brown version, These readers saw differences in
personality between Lhe writers, such as helpfulness, dynamism, and quality of mind. By looking carsfully

Academic Writing for Science Students — Physics Undergraduates
Indepenuent Learning Centre, CURK

al'the passages, we can distinguish between what is perceived and what the linguisiic fucts are. It is worth
looking back ar the two pessages Lo see just what the difference between them is.

In both passages the information content, and the arder in which it is presented, is exactly the sarne. Thi use
of technical terms is similer 100 - both passages use five undefined technical words (adrenal, endrogen,
eorlicoslecone, ghicocorfeoids and hormone). The difference is more in the handling of ordinary language
than in the eclinical language. Smich's version is more readable because il is written in shor senlences with
direct, aclive constructions. Il avolds unfamiliar words, and inflated mundaboul phrases. Brown's version is
difficull 1o read, with long sentences, conyoluted constructions and iong words like ‘adrenalectomized’. It is
gll in a single paragraph.

It was these differences in style, not the technical contept and organization, which made readers feel that
Smith was a more impressive scientist. We think most wrilers would prefer to read, and probably to write,
in a simptle, direct style, but they are afraid that such a simple style would make their work less impressive.
Cfien the wish Lo make a good impression is in the forefiont ol a wriler's mind, before even the wish to
communicaie information.

wocqnn Support for Seience mEn_n_.__m ..Sz_:m for Scientisls - a brief guide by fan Sauuders (Physics), Oolober 2000,

Task 3a

1. Pallution is 3 glgnificant [bfg) problem In Hong Kong.

2. Living conditions in some housing developments zre ynacceptable [horrible).

3. The influgrice of computer games an young peaple 15 a controvergial {hot) topic.
4. Mark's performance In the examination was disapgginting {bod).

5. she received a sizeabje (big) sum af maney fram the iusurance company.

& Chan's {2001) methad of investigatlon is quesilgnable [wrong).

7. The company's aftgrgdable {cheop) products have proved to be very popular,

8. A number of genior {0/o} marnbers of stafl have left in receut yeacs.

9, Professar Yau's new book |s very slimulating [good).

10. This Is a mingr {smaif detail, which | think we can discuss another yume,

Task 3b

1. Plans are belng made to develop [come up with) a database contaniug uetalled euvironmental informanion for the
region.

2. Proposals 1o ronstrucl new nuclear reactors have encountered {mer with) greal resistauce fram anvironmentalists.

3. Subtle changes i the earth’s crust were elevaled {picked up) by these new instrumants.

4. The process should be repealed {done over| unlil the deslred resulls are achjeved.

5. The temperawre degreased {went down) quickly from 97 5°C to 26.3°Cin 5 minutes

6. All these cgnstilute [moke up) destabilizing factors

7. This experiment was conducted (corried o) 1o measure the global lemperature chauge over the past decade.

B. We grgpose lpul farward) this theary to explaln the current phenomenon

8. The experiment ingluded {war mode ug af] 3 parls, nanely A, Band C.

10, In Sectan Four, we will gdiscuss [go fntg] the causes of the experimeut resuits.
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11. Therefore, we can goncludg idrow a conciustan) thal Quantum Physics is the mask successful theory far answerlng

these questions,

12. Soient|sts are investigating (conducting on investigarfon) Inta the cause of Lhe accident.

Task da

|. According 1o our siudy, there is probebly no

2. In spite of its shertcomings, the study is still

relationship between gender end life satisfaction.

a respeciable pioneering effort.

3. As a resull of ebraining the assistance of the Department of Census and Statistics, we were able

10 use an up-to-date sampling frame from which

to select our sample.

4. In contrast Lo the economic downturns of many Asian eountries, China’s economy has recorded

phenomenal growth for at least three conseculive years.

5. With great care and attention to details, our project proeeeded relatively smoothly.

Task db

1. Taking all these reasons into consideration, [ believed we had (o proceed as planned.

2. Being a prejudiced persan, he refuses o listen to opinions different from his.

3. Not disconraged by untamiliarity with a strange culture, she tried her best 1o adapt herself to her new

surroundings.

4, Haviug seen the similarities between sociology
examine their differences in Section Two.

and anthrepology in Seclion One, we will next

3. Not having been told of the duration of the study, [ was unable (o decide if [ could accept it.

(Adapred from Effeciive Writing by Pedro Pak-lac Ng, 2003, pp. 286-8)

S b www. writie). engrpsy. ed o/ hoshbeek fexere s/ eise] [l

Key to Exercise on Style in Scientific Writing

This exercise requires thal you identify (the main swylistic problem in each excerpl.

Given in Table 1 is a lis1 of common stylistic errors

thai the excerpl may conlain.

Given in pareniheses are page numbers in The Craff of Scientific Writing

explaining each problem.

Table 1. List of Commen Stylistic Errors

j n-parallel headings {37-40) Meedlessly casnplex words (84-85)
Weak rransirion inte section (53] Meedlessly camplex seun phrase (45-
Ambiguity Irom mussing punctuation (94- NG}

96) Needlessly comp {86-90)
Ambiguity from pronoun {93-94) Run-on sentence (259 260)
Amnbiguity from word arder (92-93)

! ¥erb tease error (261)
Lack of sentence variety (139-137) Subject-verb dlaagreement (260)
Tone problem (57-101)

| Usage error (268-272)
1

\: Awbiguity from missing punctuatian (see page 96}

Possible revision: Discharges of these hazardous substances occur (hrough the
following: (1) spills when loading vehicles, (2) spiils and over-spills when filling
Lhe 1anks, (3) leaks from supply pipes, and (4) pipe joints, rusi holes, and cracks in
the seams ol the 1anks themselves,

2: Lack of sentence variely (see page 179)

The design of the eireuir is shown in Appeodix A. The first schematie of ithe
Appendix shows the interface of the EEPROM with the HC11. The decoder and
the bit latch were also ueeded for this circuil. The decoder miade surs thut the
EEPROM responded to address locations 36000 1o §7FFF. The laich stored the
address lines for the EEPROM when Port C on the EVBU switched from oulpot
address lines Lo input data liaes. These integrated chips worked Logether to give Ihe
HC1 1 the expanded memory. {4/ the sentences begin with the subject followed by
the verh )

3: Needlessly complex noun phrase (yee pages 83-86)

Possible revision {note that you would have ic read rke report io comne up with this
revision): Damping Valuey Mecessary for Limitiug Qscillations of a Boxear
Stopping System

4: Weok transivion into section (see page 36)

Possible revision,

Standalong Ogeration. Operation of the HC11 microprocessor in the standalone
made involyed both hardware and sofiware.

3: Needlessly complex words (see pages 84-85)

Positble revision: This study will consider why current solar energy systems, such
as Solar One, have nol reached the commercial stage and will find our whal steps
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we can take to make these systems commercial.

§: Tone problem (sce pages 100-101)

Tonol problems indicared by boldface: It has come 1o my attention thal your sport
uiility vehicles are nol as lechnologically advanced a3 they could be!
Microprocessors are more than just a booming rechnelogical buzzword; they ere
something that can be seamlessly implemented into existing vehicles and will add
countless dimensions to their capabilities... These are of course tiny examples in
a grander scheme of things that can be accomplished with microprocessors. There
are much more useful and innovalive things that could be done o improve both the
mechanical and ergonomic aspeets, which would pur yoo light-yenrs ahead of
your ¢losest competitors, all the while fattening your pockets...
enthusiastically look forward 10 meecting with you!

T: Needlessly complex sentence (see pages 86-87)

Possible revision: Enormous mining companies nre both continuing operations at
old gold mines and proposing the opening of new gold mines. An exarmple ofa
mine continuing its operations is the Homesrake Mine in Lead, South Dukota. This
ming has operaled continuously since 1877 and is increasing its operations [Hinds
and Trautman, 1983]). An example of a proposed new gold mine is the New World
Mine, whose proposed localion is about 2.3 miles from the border of Yellowstone
Nalional Park, near Cooks Cily, Montana. Like other proposed gold imines, the
New World Mine hias been postponed because it i in an environmentally sensitive
region.

B: dmbiguity from word order (see pages 92-¢3)

Possible revision. Most people with phenylketonuria are diagnosed at birth.

9. Ambiguiry from pronoun (see page 93}

Posiible revision: Since the invention ol the catalytic converter, one problem that
has balfled peopie involved with emission control is the converter's lack of
effeciiveness in oxidizing CO and HC until the engine is warm,

10: Lack of sentence variery (see page 129)

Procedurcs for Design. The procedures for this part of the laboratory began will
the ASM command. This command was used (o disassernble code. Thiz
disasseinbly began ai the specilied memory uddress. This command was useful in
examining the code predefined by lhe Buffato Disassembler. The "ASM"
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command was used ai the siart of address SEQ00. Ti fisted the first three
instructions at locarion $£000. Table | shows both the machine code and rthe
disagsembled code [or these instructions. (47! the sentences begin with ihe subject
followed by the verd)

LI: Ambiguity from missing punciuairan (see page 96)

Possible revision: To provide spill protection, all 1anks were (o include carchment
basins and one of the following: autematic shutofT devices, overfill alarms, or bull
float valves.

12: Non-parallel headings (sea page 39)

Possible revision:
Introduction
History of Computer Viruses

Where Do Yiruses Originade?

What Dainage Have Viruses Caosed?
Ways to Combat Computer Viruses
Physical Bnrriers
Anfiviral Barrjers
Conclusions
Summary
Recommendations

13: Tone prohiem (sze pages 100-101)

Touai problems Indicated by boldface: Each time we wired the hex
dispiny, we placed it in a different location on the bread board.
Unlortunately, each {ime the hex display would show a ditferent
readiug. The third time proved to be the charm as the hex display read
all of the numbers correctly.

14: Weak sransition into section (see page 56)
Possibie revision;
Interfacing the Matrix Keyboard. This section of ihe laboratory
assigument called [or a 4x4 matrix keypad and TIL-311 hex display 10
be added to the hardware wired in the previous seetion.

15: Needlessly complex noun phrase (see pages 85-86)

This title is difficult to revise just having the sidfe. Yau woald have to
examine the report und cousider the sudience.



